$
Dl j / Three-Variables Linear Equations (ax+by-+cz=d)

Name: Date: Score:
Sk — 1y + 4z =40 2 bx—dy+6z="T2
6x + 4y + 4z = 50 3x—3y+5z=45
3x+6y—3z=9 S5x—=5y+5z=155
Sx+ 6y + 52 = 67 Y- ly+2z=5
6x+ 3y + 1z =36 5x+ 5y +4z=63
Sx— 6y —2z=-38 Ix+3y+3z=31
5. _ 6. _
2x—6y+4z=14 Ix—1y—3z=-26
2x+2y—6z=-10 Ix+ 6y —4z=22
6x—3y+5z=44 Sx+3y+5z=94
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Three-Variables Linear Equations (ax+by+cz=d)

Name:

Sx—1ly+4z=40
ox + 4y +4z = 50
3x+6y—3z=9

N =
I
B =

5x+ 6y + 5z =67
6x+ 3y + 1z =36
Sx— 6y —2z=-38
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T - Gytdz=14
2x+2y—6z=-10
6x—3y+5z=44
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Date: Score:
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6x—4y+6z="T72
3x—3y+5z=45
Sx—5y+5z=55

N =
I
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toox- ly+2z=5

5x+ 5y +4z=63
Ix+ 3y + 3z =31
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Ix—1y—3z=-26
Ix+ 6y —4z=22
Sx+3y+5z=94
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